
PACK P/M

1 Chair Back Cushion 椅背 A3000066 R55167

Wood+Fabric

Content:

100%polyester

Clean Code:S

1 H M

2 Back Leg(L=315mm) #1 后脚#1 A3000066 R55159 Wood 1 F M

3 Back Leg(L=315mm) #2 后脚#2 A3000066 R55160 Wood 1 F M

4 Seat Cushion 座垫 A3000066 R55168

Wood+Fabric

Content:

100%polyester

Clean Code:S

1 F M `

5 Front Leg(L=295mm) #1 前脚#1 A3000066 R42006 Wood 1 F M

6 Front Leg(L=295mm) #2 前脚#2 A3000066 R42007 Wood 1 F M

7 Hardware Pack 五金包 A3000066 R55162

5/16 Inch X65mm Allen Bolt (8)

5/16 Inch X55mm Allen Bolt (4)

5/16 Inch Flat Washer (12)

5/16 Inch Lock Washer (12)

5mm Allen Wrench (1)

1 G P

8 Insert (5/16in x 25mm) 内外牙 A3000066 R44834 Metal 8 G P

SIGNATURE DESIGN BY ASHLEY® December,2017 Page 1 Of 1All Rights Reserved.

DESCRIPTION USED ON: MRP#

REPLACEMENT PART DESCRIPTION FORM
MODEL #: A3000066

MATERIAL QTY.
FACTORY USE ONLY!!

PART#

1              

2              

3              

4              

5              
6              

7              

8              


